Tfora

(www.tiwariacademy.com)
(31T - 14) (IUHES)
(P& - 8)
TATIEAT 14.1

A 1:

fau gu el & wrd uHEs Id Fifo;
() 12x,36 (ii) 2y,22xy
(iii) 14pq,28p°q" (iv) 2x,3x°.4
() 6abc,24ab’ 12a’b (vi) 16x°,—4x%,32x
(vii) 10 pg,20gr,30rp (viii) 3x*y’,10x7y*,6x°y’z

g3
(i) 12%=2x2x3Ixx
36=2x2x3x3
31, fRu gu el H 9d UHEs 2, 2 3R 3=2x2x3=12 &

(ii) 2y=2xy

22xy=2x11xxxy
3fct:, feu gu vl # 9rd urEE 2 8k y = 2x y =2y §
(iii) 14pg=2xTx pxgq

28p°q" =2x2xTx px pxgxq
3k, fou gu uel ¥ rd S 2x7x pxg=14pg Bl

(iv) 2x=2xxxl
3x* =3xxxxxl
4=2x2x1
3fct:, feu gu uel & 9rd orEs 1 7
(v) 6abc =2x3xaxbxc

24ab® =2x2x2x3xaxbxb
12a’°b=2x2x3xaxaxb
3fct:, f4U gu uel ¥ 9rd oS 2x3xaxb=6ab &
(vi) 16x° =2x2x2x2Xx XX XX X
H4x2=(Hl)><2x2xxxx
I2x=2%Ix2xI%INX
31a:, f3U gu uel & Ord U 2x2x x=4x Bl
(vii) 10pg=2%x5% pxq
20gr =2x2x5xgxr
30rp=2x3x5xrxp
31, fou gu uel & 9rd UrREE 2x5=10 Bl
(viii) 357y =3x XX XX YyXYXY
10x°y* =2X5x XX XX XX YX ¥
6X° Y Z=2X3XXXXX YX YXZ
3d:, 3T gU el & OId UAES axxx yx y=x>y* gl

www.tiwariacademy.com
A Free web support in Education

1



Tfora

[www.tiwariacademy.com)
(ST - 14) (FIUHES)

(PET-8)
M3 2:
FafaRed sive! & RS T
(i) Tx—42 (ii) 6p-12¢q
(iii) 7a* +14a (iv) —16z+20z7°
) 200°m +30alm (vi) S5x’y—15x°
(vii) 10a® —15b" +20c¢” (viii) —4a*+4ab—4ca
(ix) Pyz+xyiz+xyz? (x)  ax’y+bxy’ +cxyz
€9 2:
(i) Tx—42 = Txx—2x3x7
TS Ug 9 9Td (SHIME) UGS & a6 e ),
= 7(x-2x3) = 7(x-6)
(ii) 6p—12q = 2x3x p—2x2x3xq
TS U I T4 (SHAME) oS oI aeR e |,
= 2x3(p-2¢) = 6(p-2q)
(iii) 7a* +14a=Txaxa+2xTxa
Td® US ¥ U4 (SHTE) UHES & dex e IR,
= 7xa(a+2) = 7a(a+2)
(iv) —162+20z" =(—1)x2x2x2x2xz+2x2X5x zX2X 2
TP U § 914 (SHIHE) UGS DI a6 Hobre W),
= 2x2xz(—2x2+5xzx z) = 4z(—4+522)
(v) 200°m+30alm =2x2x5x I xIxm+2x3x5xaxIxm
TS UG 9 94 (SHIAMAE) OGS &I a6 Fde |,
= 2x5xIxm(2x1+3xa) = 10im(2]+3a)
(vi) 5x7y—15xy" =5xxX XX y+3XSx XX yX y
Ud® Ug § T4 (SHTE) TOHES B dTex Hhie W),
= Sxxxy(x_:&y) = 5xy(.\'~3_\’)
(vii) 10a® —156° +20¢® =2x5xaxa—3x5xbxb+2x2x5xcxc
T® UG 9 94 (IHIE) To-ES B a6 Hdbre ),
= 5(2xaxa—3xbxb+2x2xcxc) = 5(2a3—3b2+4cl)
(viii)  —4a’+4ab-4ca=(-1)x2x2xaxa+2x2xaxb—2x2xcxa
Td® UG ¥ UId (SHIE) TUHES & a6 e IR,
= 2x2xa(-a+b-c) = 4a(-a+b+c)
(ix) XYz 4 XY 24+ XY2E = XX XX YXZH XX YX YXZ+XX YX ZX Z

T UG 9 914 (SHIAME) e S &I 1eR e |,

= ,\”X")’XZ(I*F}’“FZ)

= xyz(x+y+z)
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(x) ax’ y+bxy’ +cxyz = ax xxxx y+bxxx yx y+cxxx yx z

UAF U 9 T4 (SHTME) RS oI a1eR e |,

= .xxy(axx+bxy+c><z)

= xy(ax+by +cz)

M3 3:

TS PIfT;
(i) X +xy+8x+8y (i) 15xy—6x+5y—2
(iii) ax+bx—ay—by (iv) 15pg+15+9g+25p
(v) z—T+Txy—xyz

£.3W 3:
(i) X +xy+8x+8y=x(x+y)+8(x+y)

= (x+ y)(x+8)

(i) 15xy—6x+5y—2=3x(5y-2)+1(5y-2)
= (5y—2)(3x+1)

(iii) ax+bx—ay—by =(ax+bx)—(ay+by)
= x(a+b)—y(a+b)

- (a+b)(x-)
(iv) 15pg+15+9g+25p=15pg+25p+9g+15
= 5p(3g+5)+3(3¢+5)
= (3¢g+5)(5p+3)
(v) z—T+Txy—xyz=Txy—7T—xyz+z

= 7(xy-1)—z(xy-1)
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